

Positive solutions of functional differential equations

SORIN BUDIŞAN

ABSTRACT. We study the existence of positive solutions of the equation

$$u''(t) + a(t) f(u(g(t))) = 0, \quad 0 < t < 1$$

with linear boundary conditions. We show the existence of at least one positive solution if f is either superlinear or sublinear by an application of a fixed point theorem in cones.

1. INTRODUCTION

In this paper we shall consider the second-order boundary value problem with modified argument

$$(1.1) \quad \begin{cases} u''(t) + a(t) f(u(g(t))) = 0, & 0 < t < 1 \\ \alpha u(0) - \beta u'(0) = 0, \\ \gamma u(1) + \delta u'(1) = 0, \\ u(t) = k, & -\theta \leq t < 0. \end{cases}$$

Here $g : [0, 1] \rightarrow [-\theta, 1]$, $\theta > 0$, and $g(t) < t$ for all $t \in [0, 1]$.

The following conditions will be assumed throughout:

(A.1) $f \in C([0, \infty), [0, \infty))$ and $g \in C([0, 1], [-\theta, 1])$;

(A.2) $a \in C([0, 1], [0, \infty))$ and $a(t)$ is not identically zero on any proper subinterval of $[0, 1]$;

(A.3) $\alpha, \beta, \gamma, \delta \geq 0$ and $\rho := \gamma\beta + \alpha\gamma + \alpha\delta > 0$.

The purpose here is to give an existence result for positive solutions to (1.1), assuming that f is either superlinear or sublinear. We seek solutions of (1.1) which are positive in the sense that $u(t) > 0$ for $0 < t < 1$. We introduce the notations

$$f_0 := \lim_{u \rightarrow 0} \frac{f(u)}{u}, \quad f_\infty := \lim_{u \rightarrow \infty} \frac{f(u)}{u}.$$

The situation $f_0 = 0$ and $f_\infty = \infty$ corresponds to the superlinear case, and $f_0 = \infty$ and $f_\infty = 0$ to the sublinear one.

The proof of our main result, Theorem 2.1, is based on the following fixed point theorem, due to Krasnoselskii [3].

Theorem 1.1. (Krasnoselskii [3]) *Let E be a Banach space, and let $K \subset E$ be a cone in E . Assume Ω_1, Ω_2 are open subsets of E with $0 \in \Omega_1$, $\overline{\Omega}_1 \subset \Omega_2$, and let*

$$A : K \cap (\overline{\Omega}_2 - \Omega_1) \rightarrow K$$

be a completely continuous operator such that either:

(i) $\|Au\| \leq \|u\|$, $u \in K \cap \partial\Omega_1$ and $\|Au\| \geq \|u\|$, $u \in K \cap \partial\Omega_2$; or

Received: 29.06.2006; In revised form: 30.10.2006; Accepted: 01.11.2006

2000 *Mathematics Subject Classification*: 34B18.

Key words and phrases: *Boundary value problem, positive solution, fixed point, cone.*

(ii) $\|Au\| \geq \|u\|$, $u \in K \cap \partial\Omega_1$ **and** $\|Au\| \leq \|u\|$, $u \in K \cap \partial\Omega_2$.
Then A has a fixed point in $K \cap (\overline{\Omega_2} - \Omega_1)$.

2. THE MAIN RESULT

We start with a lemma which improves a result from [2].

Lemma 2.1. *Let K be the Green's function of the problem:*

$$\begin{cases} u'' = 0 \\ \alpha u(0) - \beta u'(0) = 0 \\ \gamma u(1) + \delta u'(1) = 0 \end{cases}$$

given by

$$K(t, s) = \begin{cases} \frac{1}{\rho} \varphi(t) \psi(s), & 0 \leq s \leq t \leq 1 \\ \frac{1}{\rho} \varphi(s) \psi(t), & 0 \leq t \leq s \leq 1 \end{cases}$$

where

$$\varphi(t) := \gamma + \delta - \gamma t, \quad \psi(t) := \beta + \alpha t, \quad 0 \leq t \leq 1.$$

Then, for every $n > \frac{4}{3}$, there is $M(n) > 0$ such that

$$\frac{K(t, s)}{K(s, s)} \geq M(n) \quad \text{for } \frac{1}{n} \leq t \leq \frac{3}{4}.$$

Proof. We have

$$\frac{K(t, s)}{K(s, s)} = \begin{cases} \frac{\varphi(t)}{\varphi(s)}, & s \leq t \\ \frac{\psi(t)}{\psi(s)}, & t \leq s. \end{cases}$$

For $s \leq t$, we will prove that

$$\frac{\varphi(t)}{\varphi(s)} \geq \frac{\gamma + 4\delta}{4(\gamma + \delta)}, \quad t \leq \frac{3}{4}.$$

Indeed, for $0 \leq s \leq t \leq \frac{3}{4}$ one has

$$\frac{\gamma + \delta - \gamma t}{\gamma + \delta - \gamma s} \geq \frac{\gamma + 4\delta}{4(\gamma + \delta)},$$

$$4(\gamma + \delta)^2 - 4\gamma(\gamma + \delta)t \geq (\gamma + 4\delta)(\gamma + \delta) - \gamma(\gamma + 4\delta)s,$$

$$4(\gamma^2 + 2\gamma\delta + \delta^2) - (\gamma^2 + 5\gamma\delta + 4\delta^2) \geq \gamma[4(\gamma + \delta)t - (\gamma + 4\delta)s],$$

$$3\gamma^2 + 3\gamma\delta \geq \gamma[4(\gamma + \delta)t - (\gamma + 4\delta)s],$$

$$3(\gamma + \delta) \geq 4(\gamma + \delta)t - (\gamma + 4\delta)s,$$

$$(\gamma + \delta)(3 - 4t) \geq -(\gamma + 4\delta)s,$$

that is obviously for $\gamma, \delta \geq 0$ and $t \leq \frac{3}{4}$.

For $t \leq s$, we will prove that

$$\frac{\psi(t)}{\psi(s)} \geq \frac{\alpha + n\beta}{n(\alpha + \beta)}$$

for $t \geq \frac{1}{n}$, $n > \frac{4}{3}$, which may be written equivalently using the following inequalities:

$$\begin{aligned} n\beta(\alpha + \beta) + n\alpha(\alpha + \beta)t &\geq \beta(\alpha + n\beta) + \alpha(\alpha + n\beta)s, \\ n\beta\alpha + n\beta^2 + n\alpha^2t + n\alpha\beta t &\geq \beta\alpha + n\beta^2 + \alpha(\alpha + n\beta)s, \\ n\beta + nt\alpha + nt\beta &\geq \beta + (\alpha + n\beta)s, \end{aligned}$$

$$(2.2) \quad B(t, s) := \beta(n-1) + nt(\alpha + \beta) - (\alpha + n\beta)s \geq 0.$$

But we have:

$$\begin{aligned} B(t, s) &\geq \min_s B(t, s) = B(t, 1) = \beta(n-1) + nt(\alpha + \beta) - \alpha - n\beta = \\ &= nt(\alpha + \beta) - (\alpha + \beta) = (\alpha + \beta)(nt - 1) \geq 0 \end{aligned}$$

for $\alpha, \beta > 0$, $t \geq \frac{1}{n}$, so (2.1) is true, which proves the conclusion.

Now we choose

$$M(n) = \min \left\{ \frac{\gamma + 4\delta}{4(\gamma + \delta)}, \frac{\alpha + n\beta}{n(\alpha + \beta)} \right\},$$

in order that for $\frac{1}{n} \leq t \leq \frac{3}{4}$,

$$\frac{K(t, s)}{K(s, s)} \geq M(n).$$

□

Theorem 2.2. Assume that conditions (A.1) – (A.3) hold. If $g \in C^1[0, 1]$, $g' > 0$, $g(1) > 0$ and g is bijective, then problem (1.1) has at least one positive solution in each of the cases:

- (i) $f_0 = 0$ and $f_\infty = \infty$ (superlinear); or
- (ii) $f_0 = \infty$ and $f_\infty = 0$ (sublinear).

Proof. Superlinear case: Suppose that $f_0 = 0$ and $f_\infty = \infty$. We wish to show the existence of a positive solution of (1.1). Now (1.1) has a solution $u = u(t)$ if and only if u solves the operator equation

$$u(t) = \int_0^1 K(t, s) a(s) f(u(g(s))) ds := Au(t), \quad u \in C[0, 1].$$

Here $K(t, s)$ denotes the Green's function (expressed in Lemma 2.1) for the boundary values problem (BVP)

$$(2.3) \quad \begin{cases} u'' = 0 \\ \alpha u(0) - \beta u'(0) = 0 \\ \gamma u(1) + \delta u'(1) = 0. \end{cases}$$

Observe that

$$(2.4) \quad K(t, s) \leq \frac{1}{\rho} \varphi(s) \psi(s) = K(s, s), \quad 0 \leq t, s \leq 1$$

We let K be the cone in $C[0, 1]$ given by

$$K = \left\{ u \in C[0, 1] : u(t) \geq 0, \min_{a_0 \leq t \leq b} u(t) \geq M \|u\| \right\}$$

where $\|u\| = \sup_{t \in [0, 1]} |u(t)|$, a_0 and b will be specified later and $M = M(n)$ is from

Lemma 2.1.

So, for $u \in K$, we have, using (2.4):

$$Au(t) = \int_0^1 K(t, s) a(s) f(u(g(s))) ds \leq \int_0^1 K(s, s) a(s) f(u(g(s))) ds$$

and hence

$$(2.5) \quad \|Au\| \leq \int_0^1 K(s, s) a(s) f(u(g(s))) ds$$

We choose $a_0 = \frac{1}{n}$ (n from Lemma 2.1.), and $b = \min \left\{ g(1), \frac{3}{4} \right\}$.

For $u \in K$, using (2.5) and Lemma 2.1, we obtain

$$\begin{aligned} \min_{a_0 \leq t \leq b} Au(t) &= \min_{a_0 \leq t \leq b} \int_0^1 K(t, s) a(s) f(u(g(s))) ds \geq \\ &\geq M \int_0^1 K(s, s) a(s) f(u(g(s))) ds \geq M \|Au\|. \end{aligned}$$

Therefore, $A(K) \subset K$. Moreover, it is easy to see that $A : K \rightarrow K$ is completely continuous. Now, since $f_0 = 0$, we may choose $H_1 > 0$ so that $f(u) \leq \eta u$, for $0 < u \leq H_1$, where $\eta > 0$ can be chosen conveniently. For $0 < u \leq H_1$, we have:

$$\begin{aligned} (2.6) \quad \|Au\| &\leq \int_0^1 K(s, s) a(s) f(u(g(s))) ds \leq \\ &\leq \eta \int_0^1 K(s, s) a(s) u(g(s)) ds = \\ &= \eta \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} u(y) dy \leq \|u\| \end{aligned}$$

making

$$g(s) = y, \quad s = g^{-1}(y), \quad ds = \frac{1}{g'(g^{-1}(y))} dy,$$

if we choose η so that

$$\eta \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \leq 1.$$

Now if we let $\Omega_1 = \{u \in E : \|u\| < H_1\}$ then (2.6) shows that $\|Au\| \leq \|u\|$, $u \in K \cap \partial\Omega_1$.

Making the same change of variables, we have

$$Au(t) = \int_{g(0)}^{g(1)} K(t, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy.$$

Furthermore, since $f_\infty = \infty$, there exists $\overline{H}_2 > 0$ such that $f(u) \geq \mu u$, $u \geq \overline{H}_2$, where $\mu > 0$ can be chosen conveniently. Let

$$\Omega_2 = \{u \in E : \|u\| < H_2\},$$

where

$$H_2 = \max \left\{ 2H_1, \frac{\overline{H}_2}{M} \right\}.$$

Using the hypothesis $g(1) > 0$, $g(0) < 0$, $g' > 0$, we obtain for $a_0 \leq t_0 \leq b$, $u \in K$, $\|u\| = H_2$, that

$$\min_{a_0 \leq t \leq b} u(t) \geq M \|u\| \geq \overline{H}_2$$

and so

$$\begin{aligned} Au(t_0) &= \int_{g(0)}^{g(1)} K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy \geq \\ &\geq \mu \int_{g(0)}^{g(1)} K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} u(y) dy \geq \\ &\geq \mu M \left[\int_{a_0}^b K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \right] \|u\| \geq \|u\| \end{aligned}$$

if we choose $\mu > 0$ so that

$$\mu M \left[\int_{a_0}^b K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \right] \geq 1.$$

Hence $\|Au\| \geq \|u\|$, for $u \in K \cap \partial\Omega_2$. We observe that for $g(1) > 0$ we may choose $n > \frac{1}{g(1)}$ in Lemma 2.1, so $g(1) > a_0$ (obviously, for $g(1) < \frac{3}{4}$, we may choose $n > \frac{1}{g(1)} > \frac{4}{3}$, how we need in Lemma 2.1). Therefore, by the first part of the Fixed Point Theorem, it follows that A has a fixed point in $K \cap (\overline{\Omega_2} - \Omega_1)$, such that $H_1 \leq \|u\| \leq H_2$. Furthermore, since $K(t, s) > 0$, it follows that $u(t) > 0$ for $0 < t < 1$. This completes the superlinear part of the Theorem 2.1.

Sublinear case. Suppose next that $f_0 = \infty$ and $f_\infty = 0$. We first choose $H_1 > 0$ such that $f(u) \geq \overline{\eta} u$ for $0 < u \leq H_1$, where $\overline{\eta} > 0$ may be chosen conveniently. Let's consider M from the first part of the proof. Then, for $a_0 \leq t_0 \leq b$, $u \in K$ and

$\|u\| = H_1$, we have:

$$\begin{aligned}
Au(t_0) &= \int_{g(0)}^{g(1)} K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy \geq \\
&\geq \int_{a_0}^b K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy \geq \\
&\geq \bar{\eta} \int_{a_0}^b K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} u(y) dy \geq \\
&\geq \left[\bar{\eta} M \int_{a_0}^b K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \right] \|u\| \geq \|u\|
\end{aligned}$$

if we choose $\bar{\eta} > 0$ such that

$$\bar{\eta} M \int_{a_0}^b K(t_0, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \geq 1.$$

Thus, we may let

$$\Omega_1 := \{u \in E : \|u\| < H_1\},$$

so that $\|Au\| \geq \|u\|$ for $u \in K \cap \partial\Omega_1$.

Now, since $f_\infty = 0$, there exists $\bar{H}_2 > 0$ so that $f(u) \leq \lambda u$ for $u \geq \bar{H}_2$ where $\lambda > 0$ may be chosen conveniently.

We consider two cases:

Case (i). Suppose f is bounded, say $f(u) \leq N$ for all $u \in (0, \infty)$. In this case choose

$$H_2 := \max \left\{ 2H_1, N \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \right\}$$

so that for $u \in K$ with $\|u\| = H_2$ we have:

$$\begin{aligned}
Au(t) &= \int_{g(0)}^{g(1)} K(t, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy \leq \\
&\leq N \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \leq H_2
\end{aligned}$$

and therefore $\|Au\| \leq \|u\|$.

Case (ii). If f is unbounded, then let $H_2 > \max\{2H_1, \bar{H}_2\}$ and such that $f(u) \leq f(H_2)$ for $0 < u \leq H_2$ (we are able to do this since f is unbounded). Then

for $u \in K$ and $\|u\| = H_2$ we have:

$$\begin{aligned} Au(t) &= \int_{g(0)}^{g(1)} K(t, g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy \leq \\ &\leq \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(u(y)) dy \leq \\ &\leq \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} f(H_2) dy \leq \\ &\leq \lambda H_2 \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \leq H_2 = \|u\| \end{aligned}$$

if we choose $\lambda > 0$ such that

$$\lambda \int_{g(0)}^{g(1)} K(g^{-1}(y), g^{-1}(y)) \frac{a(g^{-1}(y))}{g'(g^{-1}(y))} dy \leq 1.$$

Therefore, in either case we may put

$$\Omega_2 := \{u \in E : \|u\| < H_2\}$$

and for $u \in K \cap \partial\Omega_2$ we have $\|Au\| \leq \|u\|$.

By the second part of Fixed Point Theorem it follows that (1.1) has a positive solution, and this completes the proof of the Theorem 2.1. \square

Remark 2.1. If we choose $g(t) = t - h$, $h \in [0, 1)$, we note that $g(1) > 0$, $g' \equiv 1$, so g satisfies the hypothesis of Theorem 2.1. In this case problem (1.1) concerns a delay equation.

Remark 2.2. If we choose $g(t) = \frac{t}{\xi}$, $\xi > 1$, we note that $g(1) > 0$, $g' \equiv \frac{1}{\xi}$ so satisfies the hypothesis of Theorem 2.1. In this case we do not need the condition $u(t) = k$, $-\theta \leq t < 0$.

REFERENCES

- [1] Agarwal, R., Meehan, M., O'Regan, D. and Precup, R., *Location of nonnegative solutions for differential equations on finite and semi-infinite intervals*, Dynamic Systems Appl. **12** (2003), 323-332
- [2] Erbe, L. H. and Wang, H., *On the existence of positive solutions of ordinary differential equations*, Proc. Amer. Math. Soc., **120** (1994), 743-748
- [3] Krasnoselskii, M. A., *Positive solutions of operator equations*, Noordhoff, Groningen, 1964
- [4] Precup, R., *Positive solutions of evolution operator equations*, Austral. J. Math. Anal. Appl. **2** (2005), Issue 1, 1-10
- [5] Precup, R., *Discrete continuation method for boundary value problems on bounded sets in Banach spaces*, J. Comput. Appl. Math., **113** (2000), 267-281

BABEȘ-BOLYAI UNIVERSITY
DEPARTMENT OF APPLIED MATHEMATICS
400084 CLUJ-NAPOCA, ROMANIA
E-mail address: sorinbudisan@yahoo.com